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6B. (8 pts) Select the 1H NMR spectrum that

corresponds to the given compound, and then

match the labeled peaks in the spectrum with

each set of protons on the structure provided.

(Label the protons on the structure a/b/c/d/e)
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6A. (6 pts) On the given compound, label each unique type of carbon atom
a/b/c/etc., and answer the two questions below.

1. How many signals are expected
in the 13C NMR spectrum?
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Correct spectrum (1 or 2):
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2. Do you expect any signals in the 13C NMR spectrum to be above 170 ppm?

Explain briefly.


